Geometry Ch. 4 Triangle Congruence Test Review #2

1.

What other information do you need in order to prove the triangles congruent using the SAS Congruence

-~ Postulaie?

A

B C D

A ZBAC= £DAC C. LCBA= /CDh4
B. ACLBD D. AC=BD

2.

Which triangles are congruent by ASA?

v

A AABCand AGFH C. AHGFand AVTU
B. AHGFand AABC D. none

3.

What is the missing reason in the two-column proof? ~ Statements
Given: MO bisects ZPMN and OM biseets ZPON 1. MO bisects ZPMN

I bR 3. MO = MO

4, OM bisects LPON
5. ZPOM = ZNOM
6. APMD = ANMO

[l A ASA Postulate
B. SSS Postudate

1. Given

2. Definition of angle bisector
3. Reflexive property

4, Given

5. Definition of angie bi
6. _2

C. AAS Theorem
D. SAS Postulate



4.

Can yeu use the SAS Postulate, the AAS Theorem, or both to prove the triangles congruent?

A, either SAS or AAS C. AASonly
B. SAS only D. mneither
5.
Supply the reasons missing from the proof shown below,
Given: AB = AC, £BAD = £CAD Statements Re
Prove: AD bisects BC T a———
A 1. 4B = AC 1. Given
2 ZBAD = SCAD | 2. Given
3.4AD = AD 3. Reflexive Property
4. ABAD = ACAD | 4. __ 7
5.BD = CD 5.2
6. AD bisects BC | 6, Definition of segment bisector
A ASA; Corresp. partsof = Aare =. C. S88; Reflexive Property
B. SAS; Reflexive Property D. SAS; Corresp. partsof = Aare

6.

The legs of an isosceles triangle have lengths x + 1 and —=x + 7. The basc has length 3x — 3. What is the length
of the base?
A 4 C. 3

B 6
7.
Find the values of x and A x=44,y=46
B. x=45y=44
C. x=9%,y=4

D x=9, y=46

B D C
Drawing not to scale



8.
| { o A. 60
Find the value of . The diagram is not to scale. B. 21
C. 15
D. None of these
9.

What additional information will allow you to prove the triangles congruent by the HL Theorem? j

CM:) gojvg ‘fa‘r X

e
Vd

A 4= /ZE C. 3-553_6
B. m/BCE = 90 D. AC = BD
10.

L




Proofs Reasons Bank (This will NOT be provided for you on the test) : Given, Vertical Angles are Congruent, Reflexive
Property, Def of Angle Bisector, Def of Midpoint, Alt. Interior Angles = , Triangles congruent (SSS, SAS, HL, ASA, AAS),
CPCTC

11. (4 steps)

Given: C is the midpoint of BE, ZB=£E, and Statement Reason
AB=
A D

Bi C k

Prove: AC=DC

12.
Given: PRIQS, 2QPS=£RSP Statements Reasons
P R 1. PR||QS 1.
| 2. LOQP5=£LRSP 2.
3. £PSQ=,SPR 3. Alternate Interior

| 4. 4. Reflexive Property
Q b—ap—§ 5.APQS =ASRP 15,
Prove; APQS=ASRP
13. (4 steps) Statement Reason

A

Given: AB =TD,£A = £C
Prove: BE = DE

14.

Given AABC = APOR, m/B = 3v + 4, and mZQ = 8v — 6, find m<B and mQ.

A 22 B. 11 C. 10 D 25



